 SECTION 1 | Test5

Schofield & Sims

Mental Arithmetic 1 Answers

SECTION 1 | Test 6

20 14— =4

3 18=1ten+ 7 units
fﬂ:3+8:

‘5 9p+4ps=

6 5cm + 7cm =

1 12-9=

‘8 15p-8p=

9 1lem—8cm =

10 5+ =13

‘1 What number when added
to 10 makes 197

12 Take 7 from 18,

'3 Increase 6 by 5.

Write the part
of the square
that is shaded

a as a word

b in digits.
5. From 13.p take 7p.
6 Find the sum of 6 and 9.
7 17 minus 8
'8 6plus7

9. What is the difference
between 3p and 11p?

10 Find the total of 7 and the
next odd number greater
than 7.

1m0

13p

7o | LA

3cm

o

1

aahalf

_6p

LS

_8p

16

What is the vaiue of the
missing coin? 2P

By how many is 8 + 8 more
than 97 R

12em 3. The date is 8 June. What is

the date one week later? 15 June

Yasmin has 4p less than her
prother who has 13p.
How much has Yasmin? o 9

A sandwich is cut into
four equal parts. Write the
name of each part

a as a word a_a guarter

P

b in digits. b

What is the next even number
that is greater than 107 , R V-

Aline is 12cm long.
At what measurement is
its middle point? 6cm

Matthew has twice as much

money as his brother, who

has £4. How many pounds

have they altogether? £12

Write in

words the

| time shown

| on the

clock. half past two

Ali has 18p. He spends 7p
and 4p. How much has
he left? e 1P

4. 2 tens + 4 units = 20 D
L -10=2 - 2
T+7= | 1
o+ 4=19 .

6 8cm + 6cm = i4cm

13-5= .8

What comes next?

8,16, 24,32, - 40 éfa;

11cm — dern = Jem

How many 2ps are worth
two 5ps? 2. 2PS

By how manyis 6 lessthan14? . 8

What number when added to

8 makes 137 5
Subtract 9p from 18p. %

Decrease 12 by 4. 8

Add the first three even

numbers. 12

Find the difference between
the biggest and smallest of
these amounts of money.

(% 30 7o > 18] sy

8 plus 3 minus 5 -

Write the part
of the circle
that is shaded

b in digits. b J!-

a as a word a aquarter

Sanjay is 8 years old. How old
will he be in 4 years’ time? R 74

Ruby gave two 5ps, two 2ps

and three 1ps to pay for a

pencil. How much did the

pencil cost? U 7 o

How many half oranges
can be cut from three |
whole oranges? . B

5° Write in words the name of

the day of the week that

foliows Tuesday. __Wednesday

How many 2p coins have
the same value as one 5p
and seven 1ps? e B.2PS

. There are five men, six women

and eight children on a bus.
How many people are there
in total on the bus? o 19

8 Josh has a half and his friend

has a quarter of a cake. What
fraction of the cake is left?

Bl=

How many days are there in
a fortnight? [ .

10, Write the letters of the

shapes that are triangles. WL




